

4 Ashworth Street
Linbro Park
Johannesburg
2090



4 Ashworth Street
Linbro Park
Johannesburg
2090

Hein@lrsa.co.za

Liquor Runners Gauteng JHBNORTHB

012 001 7105

www.lrsa.co.za

GRV for Diageo South Africa - LRSA NR: 16765 (GRV)

Receiver: Sanette
Checker: Sanette
Warehouse: SAB DENVER
Sender Ref 1:
Receive Date: 2025-04-07
WarehouseRecv: ZAGN
Sender Ref 2: 00673

SKU Code	Stock Description	Bin	Batch Number	QTY(Cases)	QTY(Units)
Stock Received					
798040	SMIRNOFF ICE PINE TWIST (24 X 300ML) SAB	SA06102025		84	2016
798040	SMIRNOFF ICE PINE TWIST (24 X 300ML) SAB	SA06102025		84	2016
798040	SMIRNOFF ICE PINE TWIST (24 X 300ML) SAB	SA06102025		84	2016
798040	SMIRNOFF ICE PINE TWIST (24 X 300ML) SAB	SA06102025		84	2016
798040	SMIRNOFF ICE PINE TWIST (24 X 300ML) SAB	SA06102025		84	2016
798040	SMIRNOFF ICE PINE TWIST (24 X 300ML) SAB	SA06102025		84	2016
798040	SMIRNOFF ICE PINE TWIST (24 X 300ML) SAB	SA30112025		84	2016
798040	SMIRNOFF ICE PINE TWIST (24 X 300ML) SAB	SA30112025		84	2016
798040	SMIRNOFF ICE PINE TWIST (24 X 300ML) SAB	SA30112025		84	2016
798040	SMIRNOFF ICE PINE TWIST (24 X 300ML) SAB	SA30112025		84	2016
798040	SMIRNOFF ICE PINE TWIST (24 X 300ML) SAB	SA30112025		84	2016
798040	SMIRNOFF ICE PINE TWIST (24 X 300ML) SAB	SA30112025		84	2016
798040	SMIRNOFF ICE PINE TWIST (24 X 300ML) SAB	SA30112025		84	2016
798040	SMIRNOFF ICE PINE TWIST (24 X 300ML) SAB	SA30112025		84	2016
798040	SMIRNOFF ICE PINE TWIST (24 X 300ML) SAB	SA30112025		84	2016
798040	SMIRNOFF ICE PINE TWIST (24 X 300ML) SAB	SA30112025		84	2016
798040	SMIRNOFF ICE PINE TWIST (24 X 300ML) SAB	SA06102025		84	2016
798040	SMIRNOFF ICE PINE TWIST (24 X 300ML) SAB	SA06102025		84	2016
797988	SMIRNOFF ICE PINE TWIST (12 X 660ML) SAB	SA28122025		75	900
797988	SMIRNOFF ICE PINE TWIST (12 X 660ML) SAB	SA26042025		75	900
798040	SMIRNOFF ICE PINE TWIST (24 X 300ML) SAB	SA06102025		84	2016
798040	SMIRNOFF ICE PINE TWIST (24 X 300ML) SAB	SA06102025		84	2016
798040	SMIRNOFF ICE PINE TWIST (24 X 300ML) SAB	SA30112025		84	2016

Checked By:

Transport Company: _____

Receiver: HXM061FS
Checker: JOSEPH
Driver Signature: _____

08/04/2025 07:03:01 AM

4 Ashworth Street
Linbro Park
Johannesburg
2090



4 Ashworth Street
Linbro Park
Johannesburg
2090

Hein@lrsa.co.za

Liquor Runners Gauteng JHBNORTHB

012 001 7105

www.lrsa.co.za

GRV for Diageo South Africa - LRSA NR: 16765 (GRV)

Receiver: Sanette
Checker: Sanette
Warehouse: SAB DENVER
Sender Ref 1:
Receive Date: 2025-04-07
WarehouseRecv: ZAGN
Sender Ref 2: 00673

SKU Code	Stock Description	Bin	Batch Number	QTY(Cases)	QTY(Units)
797988	SMIRNOFF ICE PINE TWIST (12 X 660ML) SAB	SA06112025		75	900
797988	SMIRNOFF ICE PINE TWIST (12 X 660ML) SAB	SA06112025		75	900
797988	SMIRNOFF ICE PINE TWIST (12 X 660ML) SAB	SA06112025		75	900
797988	SMIRNOFF ICE PINE TWIST (12 X 660ML) SAB	SA06112025		75	900
797988	SMIRNOFF ICE PINE TWIST (12 X 660ML) SAB	SA28122025		75	900
				2,457.00	52,668.00
			Total QTY Received	2,457.00	52,668.00

Checked By: _____

Transport Company: _____

08/04/2025 07:03:01 AM

Receiver: HXM061FS

Checker: JOSEPH

Driver Signature: _____

Denver

AB InBev

Transfer Note

Den 00673

DATE: 07/04/2025

TIME: 15h40

FROM: Denver
TO: Diageo

TRUCK: HXM 061
TRAILERS: HKB 022 / 2015

	CONTAINERS & BOTTLES:	CRATES ONLY
BLACK 1 LT	/	/
RED (910)	/	/
RED (660)	/	/
BLUE (660)	/	/
YELLOW (660)	/	/
GRAY (660)	/	/
NAVY (660)	/	/
PINTS	/	/
50L KEG	/	/
30L KEG	/	/
30L KEG (PU)	/	/
20L KEG	/	/

OTHER	QUANTITY	DESCRIPTION
<u>330ml Pinebriest</u>	<u>23</u> <u>Kallos</u>	<u>94077</u>
<u>660ml Pinebriest</u>	<u>07</u> <u>Kallos</u>	<u>94078</u>
<u>Wooden Pallets</u>	<u>30</u>	<u>98001</u>
/	/	/

SIGNATURE: <u>[Signature]</u>	SIGNATURE: <u>[Signature]</u>
DRIVER NAME: <u>JOSEPA</u>	WAREHOUSE: <u>Sikusi</u>

DELIVERIES

<u>DRIVER NAME:</u>	JOSEPH
<u>TRUCK REGISTRATION:</u>	HXM061FS
<u>COMPANY:</u>	LR
<u>INVOICE NUMBER:</u>	
<u>DATE:</u>	07/04/2025

COLLECTIONS

<u>DRIVER NAME:</u>	
<u>TRUCK REGISTRATION:</u>	
<u>COMPANY:</u>	
<u>INVOICE NUMBER:</u>	
<u>DATE:</u>	